13F-1 Bookkeeping
- 0 pts Correct

Peer Review ID: 68548877 — enter this when you fill out your peer evaluation via gradescope

Page 3



Peer Review ID: 68548877

enter this when you fill out your peer evaluation via gradescope




2 3F-2 Regular Expressions, Large Step
- 0 pts Correct

Peer Review ID: 68548877 — enter this when you fill out your peer evaluation via gradescope

Page 5



B coma bo obve comety wish He ghen Jremenst. Jor @2 &/-fip
S He sy wt. whth & 2 JeME o &2 yotehty T fm
| dw/w#gmm/yam%.wv/w//fwfaﬁ
7 ) Z o 2L A & et we oty A
b e & et st o 2 constanezep.

Lo morhs s Joviy 2

wy &, it vty e %

2l
743/@25/}0”'/6#}%%74% We we it offewed 72 %

pehg. A opattn e of a L LonptrilZor
ot
| o, oty 5 by S| )b w5 Loy 5
L6, s 5 lantyy 575 »
7, will yetum Ironett oy, Jese X s 7 Lonspchtie
W 1emant.

WZ oo prvice pwirer W7 wiopt st 7 72 .
M
}/ZMW}/‘Q"LW ;/W/yf/ ) ﬁ}m{ﬁ/?

Sy, T it PP st wbnt L % ﬁ%%w/z

> P ,$ M Af’ .
ﬂ/ W % " ﬁ

Peer Review ID: 68548877 — enter this when you fill out your peer evaluation via gradescope



3 3F-3 Regular Expressions and Sets
- 0 pts Correct

Peer Review ID: 68548877 — enter this when you fill out your peer evaluation via gradescope

Page 7



T— ————

2]

T i tyme, & i, W sl PP
(on=cegoymnsrs. Frt qugomodiony) Then We W%M tig
2 DFA [ dedpminiitéc 74//& udYor). okl e other 2 A

o it s abable 70 Sesf. W

Peer Review ID: 68548877 — enter this when you fill out your peer evaluation via gradescope




4 3F-4 Equivalence
- 0 pts Correct

Peer Review ID: 68548877 — enter this when you fill out your peer evaluation via gradescope

Page 9



Exercise 3F-5. SAT Solving [6 points]. Why do the last two included tests take such
a comparatively long time? Impress me with your knowledge of DPLL(T) — feel free to use
information from the assigned reading or related papers, not just from the lecture slides. I
am looking for a reasonably detailed answer. Include a discussion of which single module you
would rewrite first to improve performance, as well as how you would change that module.
Potential bonus point: The provided code contains at least one fairly egregious defect. Com-
ment.

The last two test cases contain comparatively more inequality evaluations compared to other
test cases. As a result, there is a much larger space for DPLL(T) to search through and
figure out whether the input formula are satisfiable or not, which leads to a bad efficiency of
DPLL(T). For this code, I would definitely rewrite the arith module first. For now, the code
tried out all the candidates of integer values in the constraints on the given range. Instead
of such naive linear search, I think we could use binary search to improve its performance.
Additionally, there is several well-known integer programming algorithms that we could try
for improving this module’s performance.

Submission. Turn in the formal component of the assignment as a single PDF document
via the gradescope website. Your name and Michigan email address must appear on the
first page of your PDF submission but may not appear anywhere else. Turn in the coding
component of the assignment via the autograder.io website.
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